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Choose the SINGLE BEST answer to cach of the following.

1. Which can laterally rotate the femur?
a. adductor longus
b. rectus femoris
. vastus lateralis
4. tensor fasciae latae

ch is a plantar flexor?
a. peroneus brevis
. peroneus fertius
. tiblalis anterior
4. flexor digitorum brevis

3. What is the innervation of the inferior gemellus?
a.nerve to the quadratus femoris
b. inferior ghteal nerve
c. pudendal nerve
d. nerve to the piriformis

4. Where could you find the dorsal root of the LS spinal nerve?
2. lumbar-sacral enlargement
. cauda equinae
<. conus medullaris
o filum terminal interna

5. Which innervates the skin on the dorsum of the foot?
& superior gluteal n.
b. medial plantar .
. tibial .
d. superficial peroneal n.

6. The imnervation of the flexor digitorum longus is the __
a. common peroneal n.
b sural n
o tibialn,
d.nerve 1o the gastrocnemius
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[image: image2.png]7. Which is part of the lateral collateral ligament?
a. calcaneonavicular 1
b. anterior tibiotalar |
c. caleancofibular |
d. caleancocuboid .

§. Which is a contralateral rotator?
& splenius capitis
b. semispinais thoracis
<. longissimus thoracis
d. iliocostalis humborum

9. Which runs zlong with the tibial nerve in the leg?
a. superficial peroneal nerve
b. peroneal artery
. posterfor tibial artery
4. sciatic nerve,

10, The superior gluteal nerve innervates the
a. gluteus maximus
. rectus femoris
<. pectineus
4. tensor fusciae latae

11. Which muscle originates in the glutcal region?
a. superior gemellus
b. obturator internus
<. piriformis
d. gracilis

12. Which is the action of the 2* plantar interosseous muscle?
2. adducts 2" toe
b abducts 2" toe
. adducts 3% toc

d. adducts 4" toe

13. The greater occipital nerve emerges above which vertebra?

a
b.
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[image: image3.png]14. The lateral plantar nerve is a terminal branch of the
a medial plantar n
b. sciatic n.
. tibial n.
4. deep peroneai .

15. Where is the cerebrospinal fluid located?
a. immediately superficial to the dura mater
b immediately decp to the arachnoid mater
c. immediately deep to the dura mater
4. immediately deep to the pia mater

16. Which muscle does not have an insertion on the medial cuneiform bone?
a. peroneus brevis
‘. peroneus longus
. tibialis anterior
d. tibialis posterior

17. The perforating branches of the deep femoral artery supply blood to which muscle?
asartorius
b. semitendinosus.
<. vastus intermedius
d. pectineus

18. The peroneal artery is located in which compartment?
a. lateral crural
b. superficial posterior erural
. deep posterior erural
d. anterior crural

19, Which of the following cannot downwardly rotate the scapula?
a. trapezius
b. levator scapulae
. rhomboideus minor
A rhomboideus major

20, Which 6 fhe following is part of al joints.
< )
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[image: image4.png]21. Which can be found between the dorsal and ventral roots of most spinal nerves?
2 cauda equinae
b. dorsal root ganglion
<. filum terminale
4. denticulate figament

‘Which muscle flexes the hip?
a. vastus lateralis
. gluteus mazximus
. rectuy femoris
A biceps femoris

Ihe anterior tibial artery becomes which of the ollowing?
a. arcuate &
b. posterior tibial 2.
c. popliteal a.
d. dorsalis pedis &

24. From its beginning, the deep femoral artery disappears under the _
a. vastus medialis
b adductor magns
. iliopsoas
d. adductor longus

25. Which muscle has the longest tendon?
a. popliteus
b. gastrocnemius
. plantaris
4 piriformis

26, Which muscle cannot flex the knee?
a. popliteus
b soleus
c. plantaris
d. gastrocnemius

27. A proper digital nerve located on the lateral distal side of the 3* toe is innervating what?
a. flexor digitorun brevis

b. flexor digitorum longus

¢ 2™ lumbrical

d.skin




[image: image5.png]28, Which travels inferiorly and medially to reach its distal attachment?
a. anterior cruciate ligament
b. posterior cruciate ligament
. long plantar ligament
4. calcaneal tendon

ing plantar Tigament is the

30. Consider an axan that is part of the greater occipital nerve. Where s its cell body?
a. dorsal horn of spinal cord
b. ventral hom of spinal cord
. dorsal oot ganglion
d.brain

31. Which runs with the deep peroncal nerve?
. popliteal artery
b. peroneal artery
. anterior tibial artery
4. nerve Lo the vastus medialis

32. The only muscle in the following list that docs not insert on the tibia is the
a. sartorius
b. semitendinosus
<. rectus femoris
d. biceps femoris

3. The lateral plantar artery dives decp in the sole of the foot, along with the

a. tibial nerve

. common digital branches of lateral plantar nerve
. lateral plantar nerve

. medial planter artery

34. An axon of the suboccipital nerve is also part of the.
a. greater occipital nerve
b. C'1 dorsal oot
¢. C1 dorsal primary remus
4. C2 ventral root
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the blood supply to the gluteus maximus is
2. the superior glutcal artery
. the inferior gluteel artery
. both gluteal aricries
d the internal pudendal artery

The latissimus dorsi medially rotates the humerus because __
a.it inserts on the anterior surface
b.its origin s posterior to its inscrtion
c.its origin is inferior 10 its insertion
d. it passcs between the arm and the trunk

Which muscle can extend the proximal interphalengeal joint of the middle toe?
0,2 lumbrical
b. extensor hallucis brevis
. abductor digiti minimi
d. quadratus plantae

Which has the most extensive insertion?
a. quadratus planiae
b. tibialls posterior
<. peroneus longus
A flexor hallucis longus

Which is 2 branch of the tibial nerve?
& sural n
b. medial sural cutaneous .
. lateral sural cutancous 1
4. common peroneal .

The short head of the hiceps femoris is innervated by the
a. tibial nerve
b sciatic nerve
. tibial division of the sciatic nerve
d. common peroncal nerve

‘Which is a major blood supply o the hip joint?
a. femoral a
. medial fermoral circumflex a.
c. anterior tibial 2
d. superior ghuteal a.
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‘Which muscle is most medial?
a. tibialis anterior
b. peroneus brevis
¢. extensor digitorum longus
d extensor hallucis longus

3. Which muscle divides the superior glutcal region from the inferior gluteal region?

a. superior gemellus
b obturator internus
c. piriformis

d. gracilis

‘Which musele has an origin on the femur?
a. biceps femoris
b. rectus femoris
c. quadratus femoris
4. tensor fusciae latae

Which is most medial in the leg?
2. tibial nerve
b. flexor digitorum longus
<. tibialis posterior
d. superficial peroneal nerve

The lateral plantar artery is a terminal branch of the .
a. medial plantar a.
b, anterior tibial &,
c. posterior tibial a.
d. peroneal .

The dorsal scapular nerve innervates the __
a. semispinalis cervicis
b. rrapezius
<. splenius capitis
& rhomboideus minor

The extensor hallucis brevis is innervated by the
a. superficial peroneal .
b decp peroneal n.
c. tibial n
4 medial plantar .




[image: image8.png]49. Which is found in the sub-sartorial canal?
2. greater saphenous vein
b nerve to vastus lareralis
c. femoral nerve
d_saphenous nerve

50. Tn addition to laterally rotating the femur, the gluteus maximus also
2. flexes the leg.
b. cxtends the hip
c. medially rotates the tibia
d zbducts the femur

51. The geniculer arteries are the major blood supply to the
. gastrocnemius
b. knee joint
c. hamstrings

d. decp back e Lol
52. Which i the most superfcialf

a. quadratus planiae

. flexor digitorum brevis

c.flexor digitorum longus

d hambricales

3. Which runs with the transverse cervical artery?
2. accessory nerve

b. dorsal scepula nerve

. thoracodorsal artery

d. greater oceipital nerve




